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�������� ���� � !�!�
� �����" � #$%!&�� �#$� '���� (&������� #�� $���� �& ��&�)� ���
 *� + �( �����" �$� �&� *��#, * #�&� !� -$�()  � ���� �� ,�$,�� #�-, )&!�#����� ��
.  -/
�&( .� ����$� � #$%!&�  -0�+ � $ ����, '����& (&������� #��� 1# -��� #�2  -�&�%���&��#,
%�� � %�&�����,� *������, �����" � � $,��
� )  �*��&�&� 3#.� 4 �.%$% 3����55� � . .���
�� � �*���, ����, !���( '���� (&������� #�� � ��&� " !&#�� %�&�����" � (��)&�� �� ���*�/
$��� #�2� ���� *,0&,� � !&#�� #��� ) #)&!)  -�&(� .% �(.�����6 %+$ � " #) � #�� ��&0���,
����, � )�%+ '����& (&������� #�� ��� .&$
� �(.�����,� �&!&$2�
� *&��
�� 7 *!��)��.�
 *�&) � !� ��  )&) " ��%#� "!�� #�� *������, (*�#2 ��!2 �� �*��� �#� *�$ 8 � #� # -�
 ��#&��, *������,� �#$� '���� ��&0���, �� $���� �& ��&�)� ��� ����,� %+$ �&, #) � #�2
 #�&��#, ������
�� " ��� .&$
� �(.�����,� �&!&$2�
� *&��
��

9%*�. *&$�� �&(
�&�2 ��&�)� ��6 ����,� �� � *,0%6 !���( '���� (&������� #��� ����
����	�
� ��&�)� ���"� & *������� �����" � #$%!&�� �#$�  *�& �( ��&�)� ��" '����&$2�&,� 8
�������	��
 *�������.� :�&�)� ��� �����"� -$�()�� ) ��&�)� ��,. '����&$2� + *����/
��,� -%*�. �&(
�&�2 
�������
� ��&�)� ��,.�� & *������� � ��. �����" 8 
�������


*�������.�

� ) .�26���� . ;)#����.���� 3#.� < �5  # -��� #�2 �&##.&����&�.
� ��� � *������, �� /
,�$,��#,� � !&#�� #��� � #��'�4�!�#) " 4 �.� '����&$2� " ��&�)� ��� � � *� *,0�" ��&0&6/
0�"#, #�#��.� )  �*��&�� = �.& ;� " ��&�)� ��� #�&-�$�(��%��#, ��� ���-$������ (�&!���,
�����#��� #��  *� + �( �����" ) ���*�$2� .% (�&!���6� ) �. .
 #!��&�. �%$2� -�#) ��!/
� #�2 �$� #%..&��%6 #  -�&��
. (�&) . �����#��� #�2 *�%� *�%+�� �����"�

7�� �&)�� (�&!���,� �����#��� #��  *� + �( �����"  )&(
�&��#, � (. ��
. �
!�#$��2
&#�.�� ��)� '����&$2�
� �  )��#��
� ��&�)� ��" �����"� & �&)�� � ��) � �
� *�%+�� �&/
�&)����#��)� *������,� �
 � )&(
�&�. � < �� !� #  ����#��%60�� '����&$2�
� ��&�)� ���
 ��#
�&6�#, � *�)&�� �
� )  �*��&�&� ��� � *� *,0�. .&#>�&-�� �&��� %�&������.

y2 = x4(1 − x2) �$� y2 = x8(1 − x2),

#. ��, � � .%� ) )&) " ) �4�+%�&'�� �����" ��&�)� ��, -$�()&� ) $$���&�� " �$� #��+%/
$,�� "�
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��� ���
 ��	��� �������������� � ��� ��� ��	���� ����� �!��!" ������#���!���$" ����� %�
�%�&
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� �� ����� ��!�"#�$� %������&

�� ���&.�)& ���� � !�!�
� �����" � �*�&$2� " ��#��.&�. " ��*) #��  ��#
�&��#, +&.�$2/
� � � " #�#��. " # +&.�$2� ��&� .

H = − 1
4π

3∑
i=1

ai

a1a2a3
ln mi 3���5

� #) -) " 7%&## �&

{f, g} =
3∑

i=1

ai

( ∂f

∂xi

∂g

∂yi
− ∂f

∂yi

∂g

∂xi

)
,

+*� ai 8  -�&��&, �����#��� #�2 i /+ ����,� mi 8 )�&*�&� �&##� ,��, .��*% ����,.��  �$�!/
�
.�  � i /+ � xi � yi 8 �+ *�)&�� �
 )  �*��&�
� ? � �,� �0�� !� ;�& #�#��.&  ��#
�&��
���
����
� *������� ���� �����"�

�&$�!�� � #�#��.�� � .�. +&.�$2� ��&�&� ����
� ����+�&$ �

Q =
3∑

i=1

xi

ai
, P =

3∑
i=1

yi

ai
, I =

3∑
i=1

x2
i + y2

i

ai

� (� $,�� #��#�� �� ) *�%.��� " *��&.�!�#) " #�#��.��  ) � � " + � �,� )&)  #�#��.� 
��
�

�����	�
�
 *������, ���� �����"� 1- (�&!�. Δ %*� ���%6  ������� �&��%6 �$ 0&*2 ���/
��� + ���%+ $2��)& � � $ ��. a = a1a2 + a2a3 + a3a1 � @ +$&#� A�B  �� #���$2� � *�������
 ��#
�&��#, +&.�$2� � � " #�#��. " # +&.�$2� ��&� . 3���5 � #) -) " C�87%&## �&

{mi,Δ} = (aj − ak)mi + (aj + ak)(mj − mk), {mi,mj} = −4akΔ, 3���5

 +�&��!���
.� �& � ����� #�2 %� ��, f = 0 � g = DEFGH � +*�

f = (2Δ)2 + m2
1 + m2

2 + m2
3 − 2(m1m2 + m2m3 + m3m1),

g =
a1m1 + a2m2 + a3m3

4a
. 3���5

�$+�-�& C�� #  ����#��%60&, $�/�%&## � � " #��%)�%�� 3���5� �&(�&�& � A�B ������
� ������
��
7 ����� #�2 %� ��, f = 0 � g = DEFGH ,�$,��#, 4&( �
. �� #��&�#�� . ��*%'�� �&�� "

#�#��.
� 7�� a > 0 ;� �� #��&�#�� ) .�&)�� A�B� � *&�� " �&- �� .
 �#�+*& ���*� $&+&�.
�
� $����� ;� + %#$ ��,�

'� � A�B *$, a > 0 �& 4&( � . �� #��&�#��� ��*%'�� �&�� " #�#��.
 -
$�  ���*�$��
 )&� /
��!�#)�� )  �*��&�
� � # �&$���6�  �� �� %* -�
 *$, �&>�� '�$�"� �- �� �%$2 �� # ��&*&���
�  -0� + � �,� �� # #��+%$,�� "� �� # ;$$����!�#) " ) $$���&�� "  # -
.� � !)&.�� ���*�.
- $�� � *� *,0�� )  �*��&�
�

� #��+%$,�� . #$%!&� �
-���. � )&!�#���  -�&(%60�� ������ " &$+�-�


ei =
Δ

2g
√

a
, ej =

ai(ai + aj)mi + aj(ai + aj)mj − (aiaj + a)mk

4ga(ai + aj)
, 3���5

ek =
(ai + aj)mi − (ai + aj)mj + (ai − aj)mk

4g
√

a(ai + aj)
3���5

� g � � ;���  -�&(%60�� 4&( � � �� #��&�#�� #�#��.
 8 #4��&

e2
1 + e2

2 + e2
3 = 1, 3��I5

& $�/�%&## � �& #��%)�%�& 3���5 �.��� ��*

{g, ei} = 0, {ei, ej} = g−1ek. 3���5
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1���*�$�. �& *&�� " #4��� )  �*��&�
 (x, y) � � $&+&,

ei = y, ej =
√

1 − y2 cos x, ek =
√

1 − y2 sinx. 3���5

�.��. {x, y} = g−1 � x = y = 0 � #��+%$,�� " � !)� mk = 0 � 9%*�. �&(
�&�2 ;�� )  �*��&�

�
�
��
�����
� ���
�������
� �

�������
��

J&(��>&, #�#��.% 3���5K3���5  �� #���$2� mi,mj ,mk � �&� *�.

mi = 2g
(
aj + ak +

a − a2
j

ai + aj
ej +

2aj
√

a

ai + aj
ek

)
, 3��
5

mj = 2g
(
ai + ak +

a − a2
i

ai + aj
ej −

2ai
√

a

ai + aj
ek

)
, mk = 2g(ai + aj)(1 − ej). 3���	5

� ) $$���&�� . #$%!&� � (2.�. � )&!�#���  -�&(%60��

e1′ = e1, e2′ =
(w2 − a)e2 + 2w

√
ae3

w2 + a
, 3����5

e3′ =
−2w

√
ae2 + (w2 − a)e3

w2 + a
(w = a1z + a2(z − 1)), 3����5

+*� z 8 *�"#�����$2�
" ) ���2 %�&�����,

z3 − (a1 + 2a2)z2

a1 + a2
− a1(2a2 + a3)z

a3(a1 + a2)
+

a1(a2 + a3)
a3(a1 + a2)

= 0, 3����5

#$�*#���, %#$ ��, {Δ,H} = 0 ���

m1 = z2m3, m2 = (1 − z)2m3. 3����5

@  �� >���, 3��I5 � 3���5 � � �
�  -�&(%60�� # ��&�,6�#,� �&) !� .
 . ��.  ���*�$��2
�
�
��
������ ���
�������� �

������� �& 4&( � . �� #��&�#��� ��*%'�� �&�� " #�#��.

��.� �� 4 �.%$&.� 3���5� !� � � #��+%$,�� . #$%!&�� �%$2 ;��� )  �*��&� #  ����#��%��
) $$���&�� " � !)� 3����5�

J&(��>&, #�#��.% %�&�����" 3���5K3���5� 3����5 � 3����5  �� #���$2� m1,m2 � m3 � �&"*�.

m1 = 2g(a2 + a3) + 2g
(az2 − (a2(1 − z) + a3)2)e2′ + 2

√
az(a2(z − 1) − a3)e3′

z2a1 + (z − 1)2a2 + a3
,

m2 = 2g(a3 + a1) + 2g
(a(1 − z)2 − (a1z + a3)2)e2′ − 2

√
a(z − 1)(a1z + a3)e3′

z2a1 + (z − 1)2a2 + a3
,

m3 = 2g(a1 + a2) + 2g
(a − (a1z + a2(z − 1))2)e2′ + 2

√
a(a1z + a2(z − 1))e3′

z2a1 + (z − 1)2a2 + a3
.

(� �  )��#�� #��  # - " � !)� 4&( � + �� #��&�#��& ��*%'�� �&�� " #�#��.
 �&�,*% # � �/
.�� �&��
.� )&� ��!�#)�.� )  �*��&�&.� (x, y) .
 -%*�. �#� $2( �&�2 #  ����#��%60��
�. � $,��
� )  �*��&�
 (ρ, φ) � & �&)�� )  �*��&�
 %+ $/*�"#���� (θ, J) � �$, � #$�*����
%!��
�&, � �.�� �)%� �.��.

J =
g

4π

2π∫

0

r2 dφ, θ = −∂S

∂J
, S =

g

2

φ∫

0

r2 dφ. 3����5
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)� 9%*�.  - (�&!&�2 ri � φi � $,��
� )  �*��&�
 i /+ ����,� 7��.�.� !� '���� (&���/
���� #�� �&� *��#, � �&!&$� )  �*��&�� : +*& �( ����+�&$ � *������, � �� ��.
 ) #��%# �
�.��. #  �� >���,L

cos(φi − φj) =
aiaj

2rirj

( r2
k

a2
k

− r2
i

a2
i

−
r2
j

a2
j

)
, 3���I5

r2
i =

4ga2
i (aj + ak)

a
− a2

i mi

a
. 3����5

@ �� %!�� . �( %�&�����" ?&.�$2� �& &-# $6�� " *��&.�)� � $%!&�.

φ̇i =
ai

4πar2
i

ajak(mj + mk)(mj + mk − mi) + 2(a2
j + a2

k)mjmk

ajakmjmk
. 3����5

@  �� >���, 3���I5K3����5  ���*�$,6� #�,(2  �� #���$2�
� � &-# $6��
� )  �*��&� #�#��.

���� �����"�

�� #$�*#���� �&. � �&* -,�#, �
�&����, *$, )�&*�&� � *$�� #� � � ������ + ���%+ $2/
��)& !���( �����#��� #�� �����" � . .��� �� � �*���, ���� + ����, !���( '���� (&������/
� #��� �( 3����5 � 3����5 ��� r1 → 0 �.��.

m1 = 4g(a2 + a3), m2 =
4ga2

3

a2 + a3
, m3 =

4ga2
2

a2 + a3
. 3���
5

� '� *+,-#.!���$/ 01%-���,��!

J�(%$2�&�
 ) .�26���� + &�&$�(& '����&$2� + �  )��#�� + *������" ���� �����" ���*/
#�&�$��
 �& ��#� �K�	�

�& ��#� � �����*��
 ��&�)� ��� '����&$2� + *������, �����" ��� 4�)#�� �&��
� � $ /
����$2�
� �����#��� #�,� ����
� *�%� � �&($�!�
�� � �&)�� � $ ����$2�
� �����#��� /
#�,� ����2�+ ����,� :�&�)� ��� �
!�#$��
 � #�#��.� )  �*��&�� �&�� .��� ��&0&60�"#,
� )�%+ '����& (&������� #�� # !&#� � "� �&�� " !&#� ��  - � �& ���� + ����, � #� �"  �/
-���� M���� (&������� #�� � .�0�� � �&!&$ )  �*��&�� @ '����&$2� " ��&�)� ���" &## '�/
�� �&� ����
" ����2�

�& ��#� � �����*��
 4&( �
� )���
�  �� #���$2� + *������, �����"� #  ����#��%60��
��&�)� ��,. ��#� � 3#$��&5� � 4&( �
" � �����  �� #���$2� + *������, *$, !&#�� + #$%!&,
�
- �& �����#��� #�� ����2�+ ����, 3#��&�&5� �&��  �.����2� !� ��&�)� ��,.� -$�()�.
) ���*�$2�
. 3 a3 = 0.1 � a3 = 100 5� #  ����#��%6� �& 4&( �
� � �����&� � !)�� -$�()�� )
#��+%$,��
.  # -
. � !)&.�

@$�*%60&, �&�& ��#%�) � 3��#� � � �5 (�&) .�� �&# # ��&�)� ��,.� '����&$2� + �  �/
� #���$2� + *������" � #$%!&�� ) +*& .��,��#, �����#��� #�2 ���� + ����,� �&) � �
>��
�����#��� #�� �����" �
-�&�
 � $ ����$2�
.�� 1# -��� #�2 ;� + #$%!&, # #� �� � � .�
!� ���*�$2�
. ��&�)� ��,. 3 a1 = 0.1 � a1 = 30 5 �����2  ���!&6� �& 4&( � . � ������
 �� #���$2� + *������, #��&�&���#& � )���&,� �� # ��&*&60&, �� # )&) "  # - " � !) "�

J�#� �K� �$$6#����%6� '����&$2� � *������� �����" � #$%!&�� ) +*& �����#��� #�� ���/
��" �.�6� �&(�
� (�&)�� N�� ��#%�)� &�&$ +�!�
 ���*
*%0�.�  *�&) (*�#2 ���*�$2�
.
��&�)� ��,. a1, a2 → −1.5 #  ����#��%6� �& 4&( � . � ������  �� #���$2� + *������,
) $$���&��
�  # -
� � !)�� �& ��#� 
 ���*#�&�$��  )��#�� � *������� �����"� J�#� �	 �$/
$6#����%�� 4 �.% '����&$2�
� ��&�)� ��"�
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���� �� '	��(��	�� )���	�*+���� �,�
���- ,�.	�/ , 0��)��*+��/ ,	�1�21�/0- 0�0��3� (��	�����
�	� a1 = 1 " a2 = 2 � 	�4*�5��. 4��5���-. a3 & '	��(��	�� ��	,��� � �	��+��� ,�.	�/ �	� a3 = 0.1

6,�*�5��� , � 	�4" �	��(��	�� ��	,��� � ,��	��� ,�.	�/ �	� a3 = 100 7 , �� 	�4&

���� �� ��4�,�� (	�,�� ����0���*+���� �,�
���- ,�.	�/" ��,�5�21�� )���	�*+��36 �,�
���2 �0*�,��"
� 8�4�,�/ ��	�	�� ����0���*+���� �,�
���- ,�.	�/ �	� a1 = 1 " a2 = 2 � a3 = 0.1 & 9(�4���*�

60����,*�,�2� 0���,��0�,�� 3�
�6 8�4�,�3� (	�,�3� � �	��(��	�-3� 	�0& �
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���� �� '	��(��	�� )���	�*+���� �,�
���- ,�.	�/ , 0��)��*+��/ ,	�1�21�/0- 0�0��3� (��	�����
�	� a2 = 2 " a3 = 1 � 	�4*�5��. 4��5���-. a1

���� �� ��4�,�� (	�,�� ����0���*+���� �,�
���- ,�.	�/" �	��0��,*-21�� )���	�*+��� �,�
����"
�	� a2 = 2 � a3 = 1 �0*�,�� � 8�4�,�/ ��	�	�� ����0���*+���� �,�
���- ,�.	�/ �	� a1 = 30 " a2 = 2

� a3 = 1 �0�	�,��& 9(�4���*� �3�2� ��� 
� 03�0*" 5�� � �� 	�0& $
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���� 	� '	��(��	�� )���	�*+���� �,�
���- ,�.	�/ , 0��)��*+��/ ,	�1�21�/0- 0�0��3� (��	�����
�	� a1 = −3 " a3 = 1 � 	�4*�5��. 4��5���-. a2

���� 
� ��4�,�� (	�,�� ����0���*+���� �,�
���- ,�.	�/" �	��0��,*-21�� )���	�*+��� �,�
����"
�	� a1 = −3 � a3 = 1 �0*�,�� � 8�4�,�/ ��	�	�� ����0���*+���� �,�
���- ,�.	�/ �	� a1 = −3 " a2 = −100

� a3 = 1 �0�	�,��& 9(�4���*� �3�2� �	�
��/ 03�0*



�� ���� ?%*�.��) � �� ?� �%�' �
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���� �� '	��(��	�� )���	�*+���� �,�
���- ,�.	�/ , 0��)��*+��/ ,	�1�21�/0- 0�0��3� (��	�����
�	� a2 = −3 " a3 = 1 � 	�4*�5��. 4��5���-. a1

���� �� ��4�,�� (	�,�� ����0���*+���� �,�
���- ,�.	�/" 0���,��0�,621�� )���	�*+��36 �,�
���2"
�	� a2 = −3 " a3 = 1 �0*�,�� � 8�4�,�/ ��	�	�� ����0���*+���� �,�
���- ,�.	�/ �	� a1 = −1.501 " a2 = −3

� a3 = 1 �0�	�,��
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���� 
� '	��(��	�� �(	�0����� �,�
���- ,�.	�/ , 0��)��*+��/ ,	�1�21�/0- 0�0��3� (��	�����
�	� a1 = 1 " a2 = 2 � 	�4*�5��. 4��5���-. a3 & '	��(��	�� ��	,��� � �	��+��� ,�.	�/ �	� a3 = 0.1

6,�*�5��� , � 	�4" �	��(��	�� ��	,��� � ,��	��� ,�.	�/ �	� a3 = 100 7 , �� 	�4

���� ��� '���5��� )���	�*+��� �	��(��	��" 0���,��0�,621�� �	���*+��3 4��5���-3 �����0�,��0�� ������
�4 ,�.	�/
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� (� ���2���� � 1+�3�45� 6��� 7"�81+/ 1 %��45"&��+/

�� �&!��. �&##. ������ # #$%!&, a3 → 0 � 9%*�. ���*� $&+&�2� !� �  )��#�� #�� #��+%$,�/
� " � !)� m2 = 0 4&( � + �� #��&�#��& ��*%'�� �&�� " #�#��.
 #��&��*$��
 �&($ ����,

a3 = α1ε + α2ε
2 + α3ε

3 + α4ε
4 + O(ε5), 3���5

h = − 1
4π

3∑
i=1

ai

a1a2a3
ln mi0 + h2ε

2 + O(ε4),

ρ = ε + ρ3ε
3 + O(ε5),

+*� ε 8 .&$
" �&�&.���� αi � mi0 � h2 8 ) �#�&��
� ρ3 8 4%�)'�, φ � ρ � φ 8 � $,��
�
)  �*��&�
� #  ����#��%60�� � �.�� �&��
. )&� ��!�#)�. )  �*��&�&. # �&!&$ . � #��+%/
$,�� " � !)� m2 = 0 �

�#� ���(��#��
� ��$�!��
  ���*�$�.� ���-%,� !� -
 � �&##.&����&�. "  )��#�� #��

H(ρ, φ) = h, J = 1
2gε2 + O(ε6) 3���5

� ��� φ = 0 �
� $�,$�#2 #  �� >���, 3���
5� O*�#2 H(ρ, φ) 8 +&.�$2� ��&� ��*%'�� �&�� "
#�#��.
 � J 8 ����.���&, *�"#�����  ���*�$���&, � 3����5�

@$�*%, #�&�*&��� " �� '�*%�� .�� *& &#�.�� ��!�#)�� �&($ ����" A�B� � �#�2 � *#�&�$,,
�&($ ����, �  ���*�$,60�� #  �� >���,�  �*�$,, ) ;44�'����
 ���  *��&) �
� #�����,�
ε � �&(��>&, � $%!���
� %�&�����,� �&� *�.

α1 = −1
2

√
a1a2, α2 = 1

8

√
a1 + a2, . . . ,

m10 = 4ga2, m20 = ga1ε
2, m30 = 4ga2, 3���5

h2 =
−a4

1 − 9a3
1a2 + 6a2

1a
2
2 + 3a1a

3
2 − a4

2

192πa3
1a

3
2

ρ3 =
2(a1a2 + a2

2 − 3a2
1) cos 2φ − a2

2(a1 + a2) cos 4φ
24a2(a1 + a2)

.

��&$ +�!� � �#� $2(%,  ���*�$,60�� #  �� >���, *$, θ �( 3����5 � �&"*��� � �
�&�����
*$, ρ � � $%!&�.

φ = −θ − a2(a1 + a2) sin 4θ + 4(3a2
1 − a1a2 − a2

2) sin 2θ
24a2(a1 + a2)

ε2 + O(ε4) 3���5

ρ = ε − a2(a1 + a2) cos 4θ + 2(3a2
1 − a1a2 − a2

2) cos 2θ
24a2(a1 + a2)

ε5 + O(ε5). 3���5

:&)�.  -�&( .�  ���*�$��
 )  �*��&�
 (ρ, φ) � ����.���
� (θ, ε) � & � #%��� %!��
�&,
�����&$2�%6 #�,(2 )  �*��&� ε � J � 8 � ����.���
� %+ $/*�"#�����

:����2 �( 3���5K3���	5� 3����5 � 3����5� �#� $2(%, 3���5 � 3���5� �&� *�.

r2
1 = 2ga1(1− cos θ)ε2 + O(ε3), r2

2 = 4ga2 + O(ε), r2
3 = ga1ε

2 + O(ε3),

φ̇1 = Ω1 −
√

a1a2(cos 2θ + cos θ)
4πga2

2(a1 + a2)ε
+ O(1), 3��I5

φ̇2 = − 1
4πga2

√
a1a2ε

+ O(1), φ̇3 = − cos θ

2πga2
1ε

2
+ O(ε), 3���5

+*�

Ω1 = − 1
2πga1

√
a1a2ε3

− a1+a2

8πga2
1a2ε2

− (33a3
1+7a2

1a2−a1a
2
2+a3

2)
√

a1a2

64πga3
1a

2
2(a1+a2)ε

+ O(1).

O&.���.� !� Ω1 �.��� #.
#$ !&#� �
  - � �& ���� + ����, � #� �"  �-����
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� �
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1��>�. *������� �����" � #�#��.� )  �*��&�� �&�� .��� ��&0&60�"#,  �� #���$2� 
'����& # !&#� � " Ω1 � �( 3���5 #�&(% #$�*%��� !� � ;� " #�#��.� � �&!&$2� . ���-$������ � 
ε �� � " � �����" ����� ��&0&6�#, # %+$ � " #) � #�26 −Ω1 � )�%+ �
.  �-��&. �&*�%# �
r2 � r3 �

P� -
  ��#&�2 *������� ���� + ����,� �%�� (�&�2 !&#� �% ω  �� #���$2� + *������,
������ + ���%+ $2��)&� N�& !&#� �& � �&!&$2� . ���-$������ # ��&*&�� # !&#� � " ��&0���,
���� + � ����2�+ �����" � )�%+ �� '����& (&������� #��� 7 #$�*�,, *&��#, �
�&�����. A�B

ω =
a1 + a3

2πa1a3m20

�$� # %!�� . 3���5 � 3���5

ω = − 1
πga1

√
a1a2ε3

.

:����2� ����+���%, 3��I5� � $%!&�. � �&##.&����&�. " #�#��.� )  �*��&�

φ1 =
ε2a2

1(1 − cos θ) sin θ

4a2(a1 + a2)
.

1�#6*& � �
�&����, *$, r1 � ����� *,  � � $,��
� )  �*��&� ) *�)&�� �
. � �#)$6!&, θ �
�&� *�. %�&������ ��&�)� ��� ���� + ����,

y2
1

b2
=

x8
1

a8

(
1 − x2

1

a2

)
,

+*�

a2 = 4ga1ε
2, b2 =

4ga5
1ε

6

a2
2(a1 + a2)2

.

'� ��&$ +�!�
.  -�&( . �&##.&����&��#, #$%!&" a2 → ±∞ � �#� *�
� �&($ ����, �����2

a2 = αε−2 + α0 + α4ε
4 + α6ε

6 + O(ε8),

h = − 1
4π

3∑
i=1

ai

a1a2a3
ln mi0 + h4ε

4 + h6ε
6 + O(ε8), 3���5

ρ = ε + ρ3ε
3 + ρ5ε

5 + O(ε7),

&  ���*�$,60�� #  �� >���, *$, ) ;44�'���� � �&($ ����" �������� (& �#)$6!����. � + �
!� &#�.�� ��)& *$, J �( 3���5 #��&��*$��& ��$ �2 * � #2. + � ε � �,*)&� & %#$ ��� 3���
5
�
� $�,��#, ��� φ = π �

:&) ��� )&) � �&���� �&� *�.

m10 =
16ga2

3

(a1 + a3)ε2
, m20 = g(a1 + a3)ε2, m30 =

16ga2
3

(a1 + a3)ε2
,

α =
4a2

3

a1 + a3
, α0 = −a3, α4 = −a1(a1 + a3)

16a3
, . . .

h4 =
(a1 + a3)2

32πa1a
3
3

, h6 =
2a3

1 + 7a2
1a3 + 8a1a

2
3 + 3a3

3

256πa1a
4
3

,

ρ3 = −cos 4φ
24

+
cos 2φ

12
, ρ5 =

7cos 8φ
2304

− 11 cos 6φ
1440

− 7 cos 4φ
2880

+
cos 2φ

72
− 5

2304



�� ���� ?%*�.��) � �� ?� �%�' �
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��  �%#)&, +� . (*)�� �
�&����, *$, ρ � φ !���( ����.���
� %+ $/*�"#�����

r2
1 =

2ga2
1(1 + cos θ)ε2

a1 + a3
+ O(ε4),

r2
2 =

16ga2
3

(a1 + a3)ε3
+ O(1), r2

3 =
g(a2

1 − 2a1a3 cos θ + a2
3)ε

2

a1 + a3
+ O(ε6),

φ̇1 = Ω1 −
(a1 + a3)2(cos 2θ + cos θ)ε4

256πga4
3

+ O(ε6), 3��
5

φ̇2 =
(a1 + a3)2ε2

32πga1a3
3

+ O(ε4), φ̇3 =
a3 − a1 cos θ

2πga1(a2
1 − 2a1a3 cos θ + a2

3)ε2
+ O(1), 3���	5

+*�

Ω1 =
1

4πga1a3ε2
+

(a1 + a3)2ε2

64πga1a3
3

+
(a1 + 2a3)(a1 + a3)2ε4

256πga1a4
3

+ O(ε6).

7��,�� � !� ��&��$2� � �
�&����� *$, !&#� �
 ω  �� #���$2� + *������, �����" �
�&##.&����&�. . #$%!&� �&� *��#, �� #� *�44����'�� �&���. +&.�$2� ��&�& 3���5 � *�"/
#���6� �.��. � �&!&$2� . ���-$������

ω = − 1
2πga1a3ε2

.

1��>�. *������� �����" � #�#��.� )  �*��&�� ��&0&60�"#,  �� #���$2� '����& (&���/
���� #�� # %+$ � " #) � #�2 Ω1 � �( �
�&����" *$, r2

2 � φ̇2 #�&(% #$�*%��� !� � ;� " #�#��.�
�� � " ����2 ��&0&��#, � )�%+ '����& # %+$ � " #) � #�26 −Ω1 � )�%+ � "  �-��� �&*�/
%#& r2 � P� )&#&��#, ���� + � ����2�+ �����"� � � ����+���%, 3��
5 � �� � � �
�&����� �
3���	5� �&� *�. � ;� " #�#��.�

φ1 =
a1(a1 + a3)2(sin 2θ + 2 sin θ)ε6

256a3
3

, φ3 = arctg
(a1 + a3) tg

θ

2
a1 − a3

.

7���� *, ) *�)&�� �
. )  �*��&�&. � �#)$6!&, θ � ���� *�. ) %�&�����,. ��&�)� ��" ���/
� + � �� � + �����"L

y8
1

b8
=

x8
1

a8

(
1 − x2

1

a2

)
, +*� a2 =

4ga2
1ε

2

a1 + a3
, b2 =

ga4
1(a1 + a3)3ε14

256a6
3

,

�
x2

3

a2
+

y2
3

b2
= 1, +*� a2 =

g(a1 − a3)2ε2

a1 + a3
, b2 = g(a1 + a3)ε2.

1�.���.� !� � $%!���
� � �&#� ,0�. �&�&+�&4� &#�.�� ��)� ��&�)� ��" '����&$2� + 
*������, � $� #�26 # +$&#%6�#, # ��(%$2�&�&.� ) .�26���� + ;)#����.���&�

� )� ���2���� � 1+�3�45� 6��� 7"�81+/ 1 1+""��� ��+/

J&##. ���. �����2 #$%!&" a → 0 � �$� ) �)���� a1 → −a2a3/(a2+a3) �
9%*�. #!��&�2� !� 

a1 = − a2a3

a2 + a3
+ α2ε

2 + α4ε
4 + O(ε6), z =

a2 + a3

a2
+ z2ε

2 + z4ε
4 + O(ε6),

h = − 1
4π

3∑
i=1

ai

a1a2a3
ln mi0 + O(ε6), ρ = ε + ρ3ε

3 + O(ε5),



�������� ���� � !�!�
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+*� z 8 *�"#�����$2�
" ) ���2 %�&�����, 3����5� ��"#��%, )&) ��� �&##. ������ Q#��+%$,�/
� + R #$%!&,� � �#�2 %* �$��� �,, %#$ ��,

H(ρ, φ) = h, J = 1
2gε2 + O(ε6),

%�&������ 3����5 � #  �� >���, 3���
5 ��� φ = 0 � �&"*�.

m10 = 4g(a2 + a3), m20 =
ga2

3

a2 + a3
, m30 =

ga2
2

a2 + a3

α2 =
a2

2a
2
3(a

2
2 + a2a3 + a2

3)
2

4(a3 − a2)2(a2 + a3)5
, α4 =

a2
2a

2
3(a

2
2 + a2

3)(a
2
2 + a2a3 + a2

3)
4

16(a2 − a3)4(a2 + a3)9

ρ3 =
(2a4

2 − 13a2
2a

2
3 + 2a4

3) cos 2φ
24(a2

2 − a2
3)2

− (a4
2 − 2a2

2a
2
3 + a4

3) cos 4φ
242(a2

2 − a2
3)2

,

S (&��.

r2
1 =

8g(a2 + a3)(a2
2 − a2

3)
2(1 − cos θ)

(a2
2 + a2a3 + a2

3)2
+ O(ε2), 3���5

r2
2 = −8ga2

3(2a2 + a3)(a2
2 − a2

3)(1 − cos θ)
(a2

2 + a2a3 + a2
3)2

+
4ga2

2

a2 + a3
+ O(ε2), 3���5

r2
3 =

8ga2
2(a2 + 2a3)(a2

2 − a2
3)(1 − cos θ)

(a2
2 + a2a3 + a2

3)2
+

4ga2
3

a2 + a3
+ O(ε2), 3���5

�

φ̇1 = Ω1 −
3(a2

2+a2a3+a2
3) cos θ

64πg(a2
2 − a2

3)2
ε2 + O(ε4),

φ̇2 =
(2a2 + a3)((a3 − a2)(a2 + a3)2(cos θ − 1) − a2(a2

3 + a2a3 + a2
2))

2πa2
2(a2 + a3)(a2

3 + a2a3 + a2
2)r

2
2

+ O(ε2),

φ̇3 =
(a2 + 2a3)((a2 − a3)(a2 + a3)2(cos θ − 1) − a3(a2

3 + a2a3 + a2
2))

2πa2
3(a2 + a3)(a2

3 + a2a3 + a2
2)r

2
3

+ O(ε2),

+*�

Ω1 = −a2
2+a2a3+a2

3

16πga2
2a

2
3

− (a2
2+a2a3+a2

3)(a
4
2 + a3

2a3 − a2
3a

2
2 + a2a

3
3 + a4

3)
64πga2

2a
2
3(a

2
2 − a2

3)2
ε2 + O(ε4).

�#� $2(%, ��&��$2� � �
�&����� *$, !&#� �
  �� #���$2� + *������, �����"

ω = −a2
2 + a2a3 + a2

3

8πga2
3a

2
2

,

����+��� �&���. � $%!���
� %�&�����" �&� *�. � #�#��.�  �#!��&� ��&0&60�"#, � )�%+ '��/
��& (&������� #�� # %+$ � " #) � #�26 Ω1 �

φ1 =
3a2

3a
2
2 sin θ

8(a2
2 − a2

3)2
ε2, φ2 = arctg

(a2 + 2a3)(−a2
2 + a2a3 + a2

3) tg
θ

2
a2(a2

2 + a2a3 + a2
3)

, 3���5

φ3 = arctg
(a3 + 2a2)(−a2

3 + a2a3 + a2
2) tg

θ

2
a3(a2

2 + a2a3 + a2
3)

. 3���5

:����2 �( 3���5K3���5 � 3���5�3���5 �&� *�. %�&�����, ��&�)� ��� �����" � %)&(&�� " #�#��.�
 �#!��&� �.��. *$, ���� + ����,

y2
1

b2
=

x4
1

a4

(
1 − x2

1

a2

)
,



�	 ���� ?%*�.��) � �� ?� �%�' �

�������� �		
� �
�� �

+*�

a2 =
16g(a3 − a2)(a2

3 − a2
2)

2

(a2
2 + a2a3 + a2

3)2
, b2 =

9ga4
2a

4
3

(a3 − a2)(a2
3 − a2

2)(a
2
2 + a2a3 + a2

3)2
,

� *$, *�%� *�%+��
x2

i

a2
+

y2
i

b2
= 1,

+*�

a2 =
4ga2

i

ai + aj
, b2 =

4g(ai + 2aj)2(a2
j + aiaj − a2

i )
2

(ai + aj)(a2
i + aiaj + a2

j)2
.

7 $%!���
� ��&�)� ��� �����" # +$&#%6�#, # ��&�)� ��,.� �& ��#� � ��� a1 = −1.501 �

� 9� �1��%!�+� ���2����

1#�&$ #2 �&##. ����2 *������� �����" � ) �4�+%�&'��� -$�() " ) '����&$2� "� �� �� ) +*&
��&�)� ��, ���� + ����, �� � *�� �-$�(� '����& (&������� #��� 9%*�. #!��&�2 *$,  ���*�/
$��� #��� !� �����#��� #�� �#�� �����" � $ ����$2�
 � a3 → 0 �

7��.�.

a3 = −1
2β

√
a1a2ε + O(ε4),

h = − 1
4π

3∑
i=1

ai

a1a2a3
lnmi0 + O(ε2), m10 = m30 = 4ga2, m20 = ga1ε

2,

r = ε + O(ε3),

+*� β 8 � #� ,��&,� �.��. � +*&

H(ρ, φ) = h, J = 1
2gε2 + O(ε4), φ = −θ + O(ε2),

� *&$��

r2
1 = ga1(1 − 2β cos θ + β2)ε2 + O(ε3), r2

2 = 4ga2 + O(ε),

r2
3 = gβ2a1ε

2 +
gβ2√a1(a1β + 2a2β − 2a2 cos θ)

2
√

a2
ε3 + O(ε4),

φ̇1 = − 1 − β cos θ

πga1
√

a1a2(1 − 2β cos θ + β2)βε3
+ · · · + O(ε), 3���5

φ̇2 = − 1
4πgβa2

√
a1a2ε

+ O(1), φ̇3 =
cos θ

2πgβa2
1ε

2
+ O(ε), 3���5

+*� .� + � !�� ���*#�&�$,�� #$&+&�.
��  �%0���
� �(/(& �� +� . (*) #���
P&#� �&  �� #���$2� + *������, �����" � �&##.&����&�. . #$%!&� *&��#, �
�&�����.

ω = − 1
πga1

√
a1a2βε3

.

����+���%, 3���5 � ���� *%  �� #���$2� + *������,� �&� *�. !&#� �%  -�&0���, ���/
� + ����, �  �-���

Ω1 = 1
2 (1 + sign(1 − β))ω + O(ε).

����+���%, 3���5 � �� � � �
�&����� � 3���5 � ���.���� � $%!&�. # ���-%�. " � !� #�26
� #�#��.� )  �*��&�� ��&0&60�"#, # %+$ � " #) � #�26 Ω1 �

φ1 = arctg
(1 + β) tg

θ

2
1 − β

+
sign(1 − β2)θ

2
,

φ3 = −
√

a2 sin θ

2
√

a1
ε +

1 + sign(1 − β2)θ
2

.
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��%*& �
��#&�2 ��&�)� ��� ���� + � ����2�+ �����"� �.��.

(xi − xi0)2 + y2
i = r2

i ,

x10 = −√
ga1βε, r1 =

√
ga1ε, x30 = 0, r3 = −√

ga1βε (β < 1),

x10 = −√
ga1ε, r1 =

√
ga1βε, x30 =

√
ga1βε, r3 =

√
ga2βε2

2
(β > 1).

�� � " ����2 � ����,� " #�#��.� )  �*��&� ��&0&��#, � )�%+ '����& # %+$ � " #) � #�26
φ̇2 − Ω1 � )�%+ � "  �-��� �&*�%#& r2 �

#$�#%& '�()*+(,*-
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